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3 point problems (OGéuata 3 povadwv)

1. Which cloud contains four even numbers?
Moo oUvvedo nepLEXeL TEooEPELG {UyoUG apLlOoUG;

13 27
(B) (€)

2. How many hours are there in ten quarters of an hour?
N60£g WPEG UMAPXOUV OF SEKA TETAPTA HLOG WPOLC;

(A) 40 (B) 5 and a half/5 kat pion (C)4 (D)3 (E) 2 and a half/2 kat pwon

3.A3 X 3 X 3cubeisbuiltfrom1 X 1 X 1cubes. Then some cubes are removed from front to back,
from left to right and from top to bottom, as shown. How many 1 X 1 X 1 cubes are left?

‘Evac kUB0G 3 x 3 x 3 giva xTiopévog anod KUBoug 1 x 1 x 1. Itn ouVvEXELQ, HepKoi KUBoL adatpouvTot
IO EUMPOG POG TA ToOW, OO APLOTEPA TIPOG TA SEELA KOl OO TAVW TPOG TA KATW, ONwe daivetal.

Néooil 1 x 1 x 1 KUPBoL £XOUV ATOUEIVEL;

(A) 15 (B) 18 (C) 20 (D) 21 (E) 22

4. Two triangles are considered to be equal if their corresponding sides have the same lengths.
How many different isosceles triangles have sides of integer length and perimeter equal to 60?

Avo tpiywva Bswpouvtal ica ov oL avTioTol e MAEUPEG TOUG £XOUV TO 810 uRKog. Mooca dtadopeTikd
loooKeA Tplywva £xouv TAEUPEG  aKEPALOU  MAKOUG Kol TePLMETpOU  loou pe  60;

(A) 13 (B) 14 (C) 15 (D) 16 (E)more than 16/mepwocodtepa amd 16
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5. Which of the diagrams below cannot be drawn without lifting your pencil off the page and without
drawing along the same line twice?
Moto amno ta MapaKATw StoypAppata SEV LIOPOUV va OXESLAOTOUV XWPLG VO ONKWOETE TO LOAUBL o0
ano tn oeAida Ko Xwpig va oxedidoste TNy idla ypapuun uo dhopeg;

(A) B)yL_ (C) Z (D) X (E) z

6. Five friends met. Each of them gave a cupcake to each of the others. They then ate all the cupcakes
they had been given. As a result, the total number of cupcakes they had decreased by a half.
How many cupcakes did the five friends have at the start?

Névte pilol cuvavtAOnkav. KaBévag anod autolg £6waoe £va YAUKO o€ KABE £va amod Toug AAAoug.
Tote épayav 6Aa ta yAukd nou eiyav 600&l. Q¢ anotéAeopua, 0 CUVOALKOG apLlOog TwV YAUKWY EiXE
HELWOEL katd To ALoV. Mooa YAUKA £€dayav oL mévte ¢iloL otnv apxn;

(A) 20 (B) 24 (C) 30 (D) 40 (E) 60

7. In a race, Lotar finished before Manfred, Victor finished after Jan, Manfred finished before Jan and
Eddy finished before Victor. Who finished last of these five runners?

Ze pua Kovpoa, o Aoung TEPUATIOE TPV ano tov Mdplo, o Biktwpag TEPUATIOE HETA TOV MNdavvn, o
Maplog teppatioe mpwv tov Mdavvn ko o Epurig teppdtioe mpwv tov Biktwpa. Mowog teppdrtios
TeEAEUTALOC QIO AUTOUG TOUG TTEVTE SPOELCS;

(A) Victor (B) Manfred (C) Lotar (D) Jan (E) Eddy
(A) Biktwpog (B) Maptog (C) Aoung (D) Mavvnc (E) Epung

8. The pages of the book Juliet is reading are all numbered. The numbers used on the pages contain the
digit 0 exactly five times and the digit 8 exactly six times. What is the number of the final page?

OL oehideg tou PBiPAiov ™G louAlétag mou Swafalel sivar aplOunuéves. OL apBupoi mou
Xpnouuomnotlouvtal otig oeAideg epLéxouv to Pnodio 0 akpfwg névie ¢popég Kat To Pndio 8 akpwg
€€L popéEc. Molog eival o aplBpog tng teAeutaiog oeAidag;

(A) 48 (B) 58 (C) 60 (D) 68 (E) 88

9. A large square is divided into smaller squares.
Eva peydAo TeETpAywvo XWPILlETOL GE UIKPOTEPA TETPAYWVAL.

What fraction of the large square is colored grey?
Moo TR TOU HEYAAOU TETPAYWVOU Eival £yXpwo YKpilo;

(A) 2/3 (B) 2/5 (C)4/7 (D) 4/9 (E) 5/12
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10. Andrew divided some apples into six equal piles. Boris divided the same number of apples into five
equal piles. Boris noticed that each of his piles contains two more apples than each of Andrew's piles.
How many apples does Andrew have?

O Avdpéag xwpLoe Lepkd pRAa og £§L iooug cwpoug. O Mnoplg Stapouoe Tov idlo aplOud pRAwv ot
TEVTE LOAPLOHOUG cwpoUc. O MmopLg mapatpnos OTL KAOE cwpOGg Tou TEPLEXEL SUO aKOpa HAAa amno
KABe cwpo tou Avdpéa. Moca pRAa £xeL 0 Avipéag;

(A) 60 (B) 65 (C) 70 (D) 75 (E) 80
4 point problems (9éuata 4 povadwv)

11. Four-digit integer are written on each of three pieces of paper. The pieces of paper are arranged so
that three of the digits are covered, as shown. The sum of the three four-digit integers is 10126. Which
are the covered digits?

TetpaPdlog aképarog ypadetal oe KAOe Eva amd ta tpict KOppATLa Xoptiol. Ta KOPUATIa XapTiol
elvau Sratetaypéva £tol wote va kaAugpOouv tpia anod ta Pnoia, onwe dpaivetal. To adpolopa Twv
tecocdpwv tetpaPnpuwwv  akepaiwv eivoar  10126. Mowa eivar taa KaAuppéva  Yndia;

1743
<2 6]

(A)5,6and 7 (B)4,5and 7 (C)4,6and 7 (D)4,5and 6 (E)3,5and 6

12. In the diagram, PQ = PR = QS and < QPR = 20° . What is the size of angle < RQS ?
Zto Saypappa, PQ=PR=QS katywvia < QPR = 20° . Moo eival 1o péyedog tng ywviag < RQS;

0
m
P # R S
(A) 50° (B) 60° (C) 65° (D) 70° (E)75°

13. Which of the following 4 X 4 tiles cannot be formed by combining the two given pieces?
Mow anod ta napakdtw 4 x 4 MAAKAKLO §ev UMopel va oxnuatiotel cuvdualovtag ta U0 Socpéva
KOMUATLO;

" S
el i =
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14. Alan, Bella, Claire, Dora, and Erik met at a party and shook hands exactly once with everyone they
already knew. Alan shook hands once, Bella shook hands twice, Claire shook hands three times and
Dora shook hands four times. How many times did Erik shake hands?

O AAav, n MniéAa, n KAapa, n Ntopa kat o ‘Epik ouvaviROnkav o€ éva MAPTL Kal €kavav Xelpayia
akpBwWG pia popd pe 6Aoug Toug 16N yvwotoug. O AAav ékave xelpaia pa dpopd, n Mnéla ékave
xewpaio 8o dpopég, n Khdpa ékave xsipapia tpelg popéc kot n Ntopa £kave xelpayia T€coeplg
dopéc. Nooeg popég Ekave xelpaia o Epik;

(A)1 (B) 2 (€)3 (D) 4 (E)O

15. Jane is playing basketball. After a series of 20 shots, Jane had scored 55% of the time. Five shots
later, her scoring rate had increased to 56%. On how many of the last five shots did she score?

H TZéw nailel pndaoket. Metd and pa oeipd ano 20 BoAég, n T{Ew okopape pe emtuyia 55%. MNévte
BoAég apyodtepa, n Baduoloyia tng eixe avéndei oe emtuyia 56%. e MOOEG Ao T 5 teAeutaieg BoAég
TETUXE;

(A)1 (B) 2 (€)3 (D) 4 (E)5

16. The operation * is defined by a * b = b — a. Which of the following has the largest value?
H npaén * opiletan wga *b =b - a. Moo anod ta mopakATw EXEL TN LEYOAUTEPN TLUR;

(A) (1% 2) * (3 x4); (B) 1 * ((Z*3)*4); (C) 1+ (2*(3x4));

(D) ((1%2) +3) 4; (E) (1% (2%3)) * 4

17. Michael keeps dogs, cows, cats and kangaroos as pets.

He tells Helen that he has 24 pets in total and that % of them are dogs, % are NOT cows and ; are NOT
cats. How many kangaroos does Michael keep?

O MAAng £XeL oKUAOUG, alyeAASEC, YATEG KoL KOLYKOUPO wG Katolkidia {wa. NégL otnv EAEvn OTL €XEL
GUVOALKA 24 KatowkiSia {wa Ko otL 1/8 and avtd sival okuAid, 3/4 AEN sival ayeAadeg kat 2/3 AEN
eivau yateg. Nooa kaykoupo £xeL o MiXaAng;

(A) 4 (B)5 (C) 6 (D)7 (E)8
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18. Some identical rectangles are drawn on the floor. A triangle of base 10 cm and height 6 cm is drawn
over them, as shown, and the region inside the rectangles and outside the triangles is shaded. What is
the area of the shaded region?
Kdmnola navopolotuna opBoywvia otpédovral oto natwpa. Eva tpiywvo Baong 10 eKatootwv Kal
UYoug 6 eKATOOTWV MAVW TOUG, Omw¢ daiveral, Kal n MePLOXN Héoa ota opBoywvia Kat £§w ano ta
tpiywva  eivat  okiaopévn. Mol €lvar N TMeEPOX] NG  OKLIOUEVNG  TEPLOXAG;

. 74
N

10cm

(A) 10 cm?. (B) 12 cm?. (C) 14 cm?. (D) 15 cm?. (E) 21 cm?.

19. Julio has two cylindrical candles with different heights and diameters. The first candle lasts 6 hours,
while the second candle lasts 8 hours. He lit both candles at the same time and three hours later both
candles were the same height. What was the ratio of their original heights?

O loUAL0G SLaB£TeL SUO KUAWVEPLKA KEPLA pe StadopeTikd UYPN Kot StapéTtpoug. To mMpwTo Kepi SLapkei
6 WPEC, EVW To SeUTEPO KePL SLapkei 8 wpeg. Avae ta U0 KEPLA TAUTOXPOVO KOL TPELG WPES APYOTEPQL
Ta U0 KepLd gixav to 8o UYPog. Ta apykd Toug LN TL Adyo sixav;

(A) 4:3 (B) 8: 5 (C) 5: 4 (D) 3:5 (E) 7:3

20. In the diagram, SP = SQ and PQ = PR. The size of angle SPR is 36°. What is the size of angle
PQR?

Zto Siaypappa, SP = SQ kat PQ = PR. To péyeBog tng ywviog SPR gival 36 °. Moo gival to péyebog tng
ywviag PQR;

S

P o

(A) 60° (B) 63° (C) 66° (D) 69° (E) 72°
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21. The integers from 1 to n, inclusive, are equally spaced in order round a circle. The diameter through
the position of the integer 7 also goes through the position of 23, as shown. What is the value of n?
Ou aképatol aptOpoi anod to 1 éwg to n, cupneplAappavouévwy, Bpiokovtal os ion anootaon Petagy
TOUG O€ OElpd yUpw amnod évav KUKAo. H Stdpetpog péow thg B€ong Tou aképaiou aplBpou 7 mepva
eniong ano tn 0éon 23, onwg daiveral. Mowa ivat n TN TOU n;

eB)

(A) 30 (B) 32 (C) 34 (D) 36 (E) 38

22. Liam spent all his money buying 50 soda bottles at the store for 1 Euro each. He sells each bottle at
the same higher price. After selling 40 bottles, he has 10 Euros more than he started with. He then sells
all the remaining bottles. How much money does Liam now have?

O AGkNnG Samdavnoes OAa Ta XPALOTA TOU yLd VO OyOPACEL QIO TO KATAoTNna 50 ProukdAia 6odag yia
1 eupw Tt0 KaBéva. MouAd KAOE UOUKAAL HE TNV iSLa uPnAotepn TLUR. Metd Thv TwAnon 40 ¢laiwy,
£XeL 10 eUpw TTEPLOCATEPO MO O, TL EEKIVNOE. ZTN CUVEXELX TTOUAA OAa Ta UTtOAOLTA itouKAALa. Mooca
XpApota £XeL Twpa 0 AAKNG;

(A) 70 Euro/supw (B) 75 Euro/eupw (C) 80 Euro/eupw

(D) 90 Euro/eupw (E) 100 Euro/supw

23. Natasha has many sticks of length 1. The sticks are coloured either blue, red, yellow or green.
She wants to make a 3 X 3 grid, as shown, so that each 1 X 1 square in the grid has four sides of
different colours. What is the smallest number of green sticks that she could use?

H Natdaoa £xeL mToAAEG paBdoug urkoug 1. Ol pABdol ival XpWHATIOHEVOL £iTE UITAE, KOKKLVO, KITPLVO
1 npacvo. O¢AeL va Snoupynosl Eva mAgypa 3 x 3, onwe ¢aiveral, £ToL Wote KAOe TeTpaywvo 1 x 1
OTO ALY VOL EXEL TECOEPELG MAEUPEG SLAPOPETIKWV XPWHATWV.

Notog eivar o UIKPOTEPOG aplOUOG Mpacwvwv pABdwv mou Ba pmopoloe va XPNOLLOTOLOEL

(A)3 (B)4 (C)5 (D)6 (E)7
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24. An ant would like to walk along a marked line on the surface of a cube until it returns to its starting
point. From which one of the following nets could a cube be made so that such a journey is possible?
‘Eva pupunykt Ba nOeAe va TEPMATAOCEL KATA LAKOG LULOG CNUASEUEVNG YPOAUAG OTNV EMLPAVELA EVOG
KUBoU pEXPL va eMULOTPEYEL OTO ONMELO EKKIVNOTG TOU. ATO TOLO QMO TO TAPOKATW OVOITUYLOTO
UMOpPEL va KATAOKEVAOTEL £vag KUBOG £T0L WOTE va gival Suvath pia tetola Stadpoun;

N |
\\\ A ’n Y
(A) - (B) L (C)
RY '\\
N \"\ ™ 3\ \I

(D) (6) il

25. Elisabeta had a large bag of 60 chocolates. She started by eating one tenth of them on Monday,
then one ninth of the remainder on Tuesday, then one eighth of the rest on Wednesday, then one
seventh on Thursday and so on until she eats half of the remaining chocolates from the previous day.
How many chocolates does she have left?

H EAloaBet €ixe pia peydAn toavra pe 60 GOKOAATEG. ZEKIVNOE TPWYOVTOG TO £val SEKOTO QIO QUTEG TN
Asutépa, £melta €va €vato and ta umdAowna tnv Tpitn, émelta €éva Oydo00 amd ta UMOGAouna thv
Tetdptn, éncita éva £BSopo tnv MERmMTN Kot oTw KAOeEAG LEXPL VA PAEL TIG ULOEG OO TLG UTLOAOLTTEG
GOKOAQTEG Ao TNV TPONYoUHEVN NUEPA. MOoEC COKOAATEG £XEL adrioEl;

(A) 1 (B) 2 (€)3 (D) 4 (E) 6

26. Prab painted each of the eight circles in the diagram either red, yellow or blue
such that no two circles that are joined directly are painted the same colour.
Which two circles are necessarily painted the same colour?

O Napnog {wypadros KAOE Evav and Toug oKTwW KUKAOUG 0To SLAaypaLpa (TE KOKKLVO, KiTpVo N UITAE
£TOL WOTE KAVEVOG OO TOUG SU0 KUKAOUG TTOU OUVSE£oVTaL QLECO VA NV ELVOL XPWLATIOUEVOG HE TO
i6lo xpwpa. Moot 8Uo kUKAoL eivar amnapaitnta {wypadlopévol HE TO Bl0 Xpwua;

(A)5and 8 (B)1and 6 (C)2and 7 (D)4 and 5 (E)3and 6
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27. When Ria and Flora compared their savings, they found that the ratio of their savings was 5:3.
Then Ria bought a tablet for 160 Euro and the ratio of their savings changed to 3:5. How many Euro did
Ria have before buying the tablet?

‘Otav n Pia kat n @Awpa cUYKPLVAV TG ANMOTAULEUCELS TOUG, Stamiotwoav OtL n avaloyia Twv
anoTapleUoswv Toug Atav 5:3. It cuvéxela, n Pia ayopace éva urmoloyloth yia 160 supw Kot n
avoloyia twv anotapletoswv tng AAafe o 3:5 . NMooca svpw €ixe n Pia mpw ayopdcel tov
UmnoAoyLoTh;

(A) 192 (B) 200 (C) 250 (D) 400 (E) 420

28. Some three-player teams enter a chess tournament. Each player in a team plays exactly once against
every player from all the other teams. For organisational reasons, no more than 250 games can be
played in total. At most, how many teams can enter the tournament?

OpPLOUEVEG OUASEG TPLWV TIALKTWV UIAVOUV OE €va TOUPVOUd oKakloU. KaBe maiktng o pa opdda
nailel akpBwg pia popa svavtiov KABe maiktn anod OAeg tig AAAeG opadeg. MNa opyavwtikoug Adyoug,
S8€v UmopoLV va aytouv neplocotepa anod 250 rowyvidia cuvoAikd. MNAceg opddeg o oAU popouv
VOl UTTOUV OTO TOUPVOUQ,;

(A) 11 (B) 10 (C)9 (D)8 (E) 7

29. The diagram shows the square ABCD with P, Q and R the midpoints of the sides DA, BC and CD
respectively. What fraction of the square ABCD is shaded?

To daypappa dixvel to tetpaywvo ABCD pe P, Q ko R ta pecaia onueia twv nAsupwv DA, BC ko
CD avtiotowa. Moo Tupa tou tetpaywvou ABCD gival oKLOOUEVO;

P Q
A : B
(A) 3/4 (B)5/8 (C)1/2 (D) 7/16 (E)3/8

30. A train is made up of 18 carriages. There are 700 passengers travelling on the train. In any block of
five adjacent carriages, there are 199 passengers in total. How many passengers are in the middle two
carriages of the train?

‘Eva tpévo anoteAeital and 18 Bayovia. Yrtdpyouv 700 emBAteg Tou TA{LOEVOUV HE TO TPEVO.

Z€ OMOLOSHTIOTE OUASA MEVTE CUVEXOUEVWV BOyOVIWY, UTTAPXOUV CUVOALKA 199 erupdrtec.

Nooot emuPareg eival ota pecaio Vo KPayovia Tou TpEvou;

(A) 70 (B) 77 (C) 78 (D) 96 (E)103

END / TEAOZ



